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B W 50 13 11 0 10 0 0 12 46 4
wooOKR omWm 73 6 9 0 19 1 0 18 53 20
E) % i 49 9 8 1 11 5 0 14 48 1
Eo 1] 47 4 10 0 7 0 0 14 35 12
&% i il 84 14 13 0 22 0 0 23 72 12
% i il 25 5 1 0 13 0 0 3 22 3
E B 23 4 2 0 3 0 0 13 22 1
% i L 83 12 19 0 11 0 0 8 50 33
B 3 11 1 3 0 1 0 0 5 10 1
A& i i) 5 2 0 0 0 1 0 1 4 1
A B 10 0 0 0 4 0 0 2 6 4
i it 227 20 46 0 31 3 0 58 158 69
% % Eil 13 4 1 0 4 0 0 1 10 3
=1 # 21 3 8 0 4 2 0 3 20 1
= & #H 35 4 7 0 3 0 0 18 32 3
% B 5 0 2 0 1 0 0 1 4 1
7 3= B 9 1 5 0 0 0 0 1 7 2
— & 7 36 2 7 0 1 0 0 5 15 21
K 53] FHi 3 0 0 0 1 0 0 1 2 1
% a M 2 1 0 0 0 0 0 1 2 0
FE 2 ™ 62 2 6 0 15 1 0 19 43 19
) 1 # 6 0 2 0 0 0 0 0 2 4
% ® Fii 2 0 0 0 0 0 0 2 2 0
FOE I 21 0 6 0 0 0 0 3 9 12
i A & #H 5 2 0 0 1 0 0 1 1 1
MR E W 7 1 2 0 1 0 0 2 6 1
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BANGIAENER | 452 474 12 4 72 54 50 30 5 16 39 50 8 97 76 100 111 123
62 495 502 27 8 68 44 54 42 11 16 38 56 100 97 81 123 116 116

63 468 489 20 8 64 37 5 43 11 15 33 58 93 8 80 123 111 122
SERGTCAERER | 439 477 17 5 59 33 57 48 12 13 28 59 91 8 80 109 95 130
2 426 459 16 4 48 2 68 51 12 14 25 56 8 74 79 98 93 136
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Hos WM E H % 364 361 364 365 364 348 365 359 363 365 363
£ F B fH (ppm) 0.008 0.006 0.009 0.006 0.008 0.005 0.010 0.009 0.010 0.008 0.009
HP1l250. 04 (H) 0 0 0 0 0 0 0 0 0 0 1
BaE 2 nwEe | (%) 0 0 0 0 0 0 0 0 0 0 0.3
1 B RE O RS E (ppm) | 0.061  0.048  0.062  0.034  0.072 0.034 0.136  0.068 0.059  0.044  0.087
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